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Chitrangda Singh, an artist from Rajasthan is
most famous as a/an:

Choose the most appropriate answer from the
options given below:

(A) Painter

(B) Actress

(C) Musician

(D) Sculpture art

(E)  Question not attempted

TSTEAT ol TR eATTaT e forer &t o waifaes
RGeS

frfafiaa faeredt o & @aifas 3ug® ST IH:
(A) TR

(B) st

(C) Hifidr

(D) Hfdshe

(E) 3raid 94

The new name of “Indira Rasoi Yojana”, the food
security scheme in Rajasthan is:

Choose the most appropriate answer from the
options given below:

(A) Rajasthan Rasoi Yojana

(B) Mahatma Gandhi Rasoi Yojana

(C) Atal Rasoi Yojana

(D) Shree Annapurna Rasoi Yojana

(E)  Question not attempted

TSTEAT 26T T et AT <313 ThIS AT
T R:

frfafiaa faereat o & @aifas 3ug® ST IH:
(A)  TSTEA TETE AT

(B)  HETcHT el TS FrerT

(C) 72 TEIS FISHT
(D) ft ST=1quTt TEIS AT
(E) Srgaiaug
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The Government of Rajasthan, announced
reservation for women in Panchayati Raj
Institutions. The percentage of reservation is:
Choose the most appropriate answer from the
options given below:

TSEIT T 3 U=t TS Seeqt § uieansii
ToTT STreEoT 6t ST 3 21 STRETT 1 ST feRaT
&2

frfafad fasreat # @ watfae 3agw® S0 T
(A 20%
B) 25%
©) 33%
(D) 50%

(E)  Question not attempted / 3 e

Who served as the Governor of Rajasthan from
2004 to 2007?

(A) Prabha Rao (B) Margaret Alva

(C) Pratibha Patil (D) Vasant Dada Patil
(E)  Question not attempted

2004 & 2007 T TSTEA 6 TSIITA 6 &9 H i
EORIGREY

(A) WTE (B) TWRE 3Tear

(C) vlwfer (D) 9\ ST UIRA

(B) 3t w1

Who authored the book ‘Samta Darshan Aur
Vyavhar’?

Choose the most appropriate answer from the
options given below:

(A) Acharya Tulsi

(B) Acharya Nanesh Muni

(C) Acharya Pramod Muni

(D)  Acharya Vishesh Muni

(E)  Question not attempted

frfaRad foeredt # @ waifaes 3ugw at I1:
(A) = qert
(B) = AT A
(C) AT THIE g
(D) AT RIS
(E) It g
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Which fair is the largest animal fair in Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Donkey fair, Rajasthan

(B) Pushkar Camel Fair

(C) Veer Tejaji Animal Fair

(D)  Animal Fair, Karauli

(E)  Question not attempted

TSTEAT 3T G SIST U3] Hell -9 22

frfeRad foskedt @ & @afiere Iug Sa T
(A) T BT, TSTEAT

(B) e Hel, TaT

(C) RIS ag] Ha

(D) O] He, et

(E) rfaiays

When carbon dioxide gas is passed into lime
water, it turns the lime water milky. This shows
the process of:

Choose the most appropriate answer from the
options given below:

(A) Chemical change

(B) Physical change

(C) Condensation

(D) Crystallization

(E)  Question not attempted

STl e SIFATFETES 79 I < 6 THT | JaTfed
ToraT ST 2, T <1 61 I ST I 6T 81 ST 21 aE

39 UshaT T Tef3id T 8-

frfafaa faeredt # & @aifas 3ug® 3T IA:
(A) T afEd

B) ifaes ufEdT

(C) =

(D) foreecfientor

(E) IHaiayy

D
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According to month wise annual calendar for
camel management and prevention of disease
proposed by National Research Center for Camel,
the best period for hair cutting is during

Choose the most appropriate answer from the
options given below:

(A) January and February

(B) March and April

(C)  July and August

(D) September and October

(E)  Question not attempted

2 o T STFELT ot G AT S T S
T g & 7EN 9 aTfie Serst & IR AT
1S T FATH I ERANE R
frfaiaa fosredt 7 @ @aifae 3ugw o I1:
(A) Sl IR EET(B) AN N 3

(C) TS SR IFTE (D) Fawer 3 sTaga
(E) Agaia s

Which of the following statements is not correct

about camel milk?

Choose the most appropriate answer from the

options given below:

(A) Fermented camel milk can be useful in
lowering blood cholesterol.

(B) There is a very high amount of Insulin
(about 40 micro unit/ml) in camel milk.

(C) Camel milk contains lactose about 3.8 to
4.8%.

(D) pH of camel milk ranges 7.8 to 8.3.

(E)  Question not attempted

freaferfiaa o & 32 o g9 % S H 941 T e

T

et faredt 3 & wrartfores 3w I

(A) 32 o1 TohfUerd gu Teh H shictegle ol ¥ i
ST & Hehal 2

(B) 2 o qg H e ohl sTga Sfereh (v
40 TTgER! e/t =T Bt 2

(C) 2% 9 H W 3.8 § 4.8% AFIS Il 2

(D) FTHITH pH &R 7.8 ¥ 8.3 TaT 2l

(E) raid
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In camel’s milk which of the following vitamins
is found in lowest amount?
Choose the most appropriate answer from the

options given below:

(A) Vitamin B,

(B) Vitamin B,

(C) Vitamin By

(D) Vitamin By,

(E)  Question not attempted

freafrfiaa 3 & Se o g o for forfim ot =gram
HET Bt 22

frfafiaa faeredt o & @aifas 3ug® ST IH:
(A) faarfim B,

(B)
©)
D)
(E)

Where is “National Research Centre on Camel”
situated ?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)
Fretferfiae bt & & wafores sugw a0 a:
(A) SHEH

(B) IER

(C) MR

(D) I3 AT

(E) Srfaiays

Jaisalmer
Udaipur
Bikaner
Mount Abu

Question not attempted
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The initial name of which of the following canals
was Rajasthan Canal?
Choose the most appropriate answer from the

options given below:

(A) Ganga Canal

(B) Hanumangarh Canal
(C) Indira Gandhi Canal
(D)  Anupgarh Canal

(E)  Question not attempted

frefafad 7=t & 9 forg 9=t o1 ARfevyes 9@
ST T T2

frfafad fasredt # @ waifae 3agw® SR T
(A) TS (B) BIHMTG T&X
(C) SRUmHiTEt (D) IFUG T
(E) 3Igdia gy

Where is Rajasthan geographically located in

India?

(A) North-East (B) North-West
(C) South- East (D) South-West
(E)  Question not attempted

TS $iTifoTeh 38 & 9 | el feura 22
(A) - (B) SR-ufsm
(C) aferorge (D) afeqor-ufym
(E) 3Iqdia g

Meja Dam is located in which of the following
places of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Tonk (B) Kota
(C) Bhilwara (D) Udaipur
(E)  Question not attempted

fmfafed § @ goea™ & frg T 9 asT Ty
feora @2

frefeTRad fospeat @ & wafiere Iag ST
(A) o (B) whler
(C) fietarer D) AR
(E) 3Igdia g4
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15  Bisalpur Dam has been constructed on which of | 18  Which of the following is an example of physical

the following rivers of Rajasthan? change?

Choose the most appropriate answer from the Choose the most appropriate answer from the
options given below: options given below:

(A) Banas river (B) Luni river (A) Rusting

(C) Saraswatiriver (D) Chambal river (B)  Formation of curd

(E)  Question not attempted (C)  Melting of wax

Arefrire I & e i g 78 T Rrgame sty (D) Browning of apple after cutting
1 o g T 29 ° (E) Quesj[ion not attempted
SIS N %ﬁfﬁmﬁﬁﬁﬁ?—m%ﬁﬁmqﬁaﬁ?wwm
() FEI B g Freaferae e 8- rrffares 3 2w
(C) HTEdt A&t (D) =S A&l (A)  STEE
(E)  3Tgmied o1 B) c@FE
(C) = o fUererT
16  Where is Pichola lake of Rajasthan situated? (D)  oh1eH % oS U T qqg[g}\—,rm
(A) Ajmer (B) Bhilwara (E) ag?rﬁ?r a9
(C) Udaipur (D) Banswara
(E)  Question not attempted 19  Match List-I with List-I1.
TSI i fUsiern e waf fRua 22 List-I (Element) List-II (Application)
(A) T B) icErer a Platinum L Medicinal use
(C) IR (D) SiaTeT b. Sulphur II.  Jewellery
(E) ﬂgﬂﬁﬁ&'{% c Graphite III.  Pencil
d. Mercury IV.  Thermometer
17 India’s biggest saline water lake located in Hﬁ-l%mgﬁ-ﬂ a1 frem X
Rajasthan state is: Hﬁ-l =) g"\iﬁ_n (T
a. ESricts L Fafercdia ST
Choose the most appropriate answer from the b, S T
options given below: N ez L e
(A) Pachpadralake (B) Kachor lake 4 T (ATE) V. aqardermitier

(C)  Sambharlake (D)  Rajsamand lake Choose the most appropriate answer from the

(E)  Question not attempted options given below:

o 8- (A) a-Lb-I,c-IId-IV
frfafad faeredt @ & @aifaes 3ag® 3T I (B) a-ILb-IV,c-Ld-II
(A) wmUeUIEie  (B) @RS (C) a-IV,b-ILc-ILd-1
(C) whREe (D) USHEHE 3 (D) a-ILb-Ic-IId-1V
(E) a@ﬂﬁ—(rgg (E)  Question not attempted / ?ﬂﬁﬁ?r Iq
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Which of the following is not a property of
metals?

Choose the most appropriate answer from the
options given below:

(A) Non Lustrous

(B) Sonorous

(C) Ductile

(D) Malleable

(E)  Question not attempted

freafefad & & -8 arqett o 7o TE 82
frfafeaa faeredt o & @aifae 39g® ST IA:
(A) IR (=) &

(B) AR

() =T

(D)  STETqaEHT

(E) i@ yy

Which of the following metal is found in liquid
state at room temperature?

Choose the most appropriate answer from the
options given below:

(A) Sodium

(B) Magnesium

(C) Aluminium

(D) Mercury

(E)  Question not attempted

frfefga & & =9 € 91q FH % qOUEE W E
ST | UTE STl 82

frfafaa faeredt § & @aifae Iug® 3T IA:
(A) uifeam

(B) EIRm

(©) ucfufrm

(D)  WER{T (IRE)

(E) Srfaiayy

KLM |
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Which of the following is an incorrect statement

with reference to light?

Choose the most appropriate answer from the

options given below:

(A) Regular reflection takes place from shiny
and smooth surface.

(B) Two mirrors inclined to each other give
single image.

(C) Splitting of light is known as dispersion.

(D) Incident ray, reflected ray and the normal
drawn at the point of incidence to the
reflecting surface, lie in the same plane.

(E)  Question not attempted

frefafad et ¥ 9§ wiF-ar v & Hedf # Terd

2?

frfaiaa foredt 7 @ @aifae 3ug® ot I1:

(A) Trafa wadT smeer 3R fowt gag @
oI

(B) TUH-3HL T A AT & U0 Tk & whfeiar
EEIE]

(C)  IhTST ST forvih BT Yehivid shaarar 2

(D)  mafda fertor, wrafda foror it wradt aag
o ST foig o S T sfver ()
T & q § Ted 2 2

(E) Jaid o

With reference to laws of reflection which of the

following is the correct statement?

Choose the most appropriate answer from the

options given below:

(A) Angle of incidence is always greater than
the angle of reflection.

(B) Angle of incidence is always lesser than
the angle of reflection.

(C) Angle of incidence is always equal to the
angle of reflection.

(D) Angle of incidence is always zero.

(E)  Question not attempted

Ed o R % de § Frefafed ¥ @ se-ar

I HE 22

frfaRaa foeredt # @ waifae 3ugw 3t I1:

(A)  SATIA IV T A hIvT F SIS T 2

(B)  3TYa hIv] Gd YU hIvT & BT el 3l

(C)  SATIH T e YL ShIUT oh sTa & IaT 2l

(D)  STTYGH SHIVT T3 I BT 2

(E) raid
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The percentage difference between a% of b and
b% of a, is:

b 3T a% 3T a T b% T ST Tferwrd & 2

(A 1% B) (ab)%

©) 0% ® (%)%
(E)  Question not attempted / 33!1?”3??1 I

40 litres of a mixture of milk and water contains
25% of water. 10 litres of water is added in the
mixture. The percentage of milk in the final

mixture is:

T8 SR AT o 40 feaet = foeror 3 25% Tt &) farspor
% 10 forex ot ST firetran St 2, a1 37 et forsror

LECEIRICHGES
(A 75% (B)  70%
C)  65% (D)  60%

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

The L.C.M. of %, 6 and % is:

7
%,gaﬁigaﬁra@nm%
(A) 210 (B) 35
© 55 D 5

(E)  Question not attempted / 311?”?6 Iq

If the difference in the compound interest and
simple interest on a certain given sum for 3 years
at 10% per annum is ¥ 1,674, then the sum (in )
is -

w ffEa iR ® 10% wha afied @ w3 9w w7
Tehd g, SATS I AT SATS T ST AfE T 1,674
B, a1 98 Tl (3 ) 2-

(A) 54,600 (B) 54,000

(C) 53,250 (D) 52,500

(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq

The simple interest on a sum of ¥ 5000 is ¥ 2450.
If the rate percentage of interest is equal to the
number of years, then rate percentage is -

% 5000 T IR A T 2450 31 Afg a1 6
TSk ST AT shl GEAT 3 SIS 2, 1 oFTT 3hY &L 2-
(A) 6% B) 7%

©) 8% D) 9%

(E)  Question not attempted / \’ﬂaﬂ'ﬁﬁ Iq
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On combining two classes of students having
average marks 28 and 40 respectively, the overall
average obtained is 30 marks. What is the number
of students in the first class if the second class has
35 students?

SHRT: 28 HIX 40 TG 3o ATt ST hl AT HETA
I WA & T, I ot 3Trea 3t 30 31 Al
ZEl el | 35 B €, Al el Hell H ST hl T
TR

A) 70 (B) 150

(©) 130 (D) 175

(E)  Question not attempted / ?ﬂﬁﬁﬁ T

Who built the‘Taragarh fort’ in Bundi?

Choose the most appropriate answer from the
options given below:

(A) Raja Aniruddh Singh

(B) Rao Raja Bair Singh

(C) Adinath Ji

(D) Maharaja Kumbha

(E)  Question not attempted

ot o “TRATE foher” forereh ST sraa T
frfafad fosredt # @ waifas Iag® SR T
(A) TeTAGRg iR (B) TIUSTR U

(C) sufemast (D)  WERSTEHRT

(B) SI7dia w4

Match List-I with List-II.

List-I (Person) List-II (Area of Work)

a. Komal Kothari 1.  Singing

b. Shaitan Singh II.  Journalism

c. Jagjit Singh III.  Folk culture

d. Pt. Jhabarmal IV. Bravery/Valour
Sharma

-1 T F=f-11 3 @t fire il

Tit-1 (=afer) Tt-11 (T a)

a. A HIBRT L TRA

b. e g I WRIar

c. i fig 1L e TEhie

d. dgeme Al IV, SRGhH/as

Choose the most appropriate answer from the
options given below:
et foq T forkedtt 7 @ eyt 3uge St I4:
(A) a-Lb-Illc-I,d-1V
B) a-1IV,b-I,c-Ld-1I
(©) a-ILb-ILc-1IV,d-1II
(D) a-1I,b-IV,c-1,d-1I
(E)  Question not attempted / agﬁ'ﬁ?f 99
[ Contd...
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35

Who established a sect called ‘Nishkalank’ (holy
and sinless)?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

Trehcier’ (afed 3R Ud ) T SIS
TATYAT forer 312

Saint Rana Bai

Saint Mav Ji

Ram Charan Ji
Maharshi Navalram Ji

frfeRad fospedt @ & wafiere Iug Sa
(A) TWATATEE  (B) GaHEST

(C) W=wst (D) weff Taewm st
(E) i@ yy

The LCM of two numbers is 36. If their ratio is
2 : 3, then their sum is:

31 AT T A FHIIEE 36 8 A SAHT
3TN 2 ¢ 3 2, Y ST AT T ST

(A) 18 (B) 24
©) 27 (D) 30
(E)  Question not attempted / ﬂgﬂﬂi?ﬂ Tq

The population of a place increased to 84,000 in
2023 at the rate of 5% per annum. Then what will

be its population in 2025?

forelt T h SEEAT 5% fday hl eT ¥ 2023 |
84,000 & ST ®, A 2025 | IGehI SHEEAT T
B?

(A) 93,600 (B) 88,420
(©) 92,610 (D) 91,560
(E)  Question not attempted / 310:|ﬁ|3?ﬁ Iq

Where is the head office of Central Arid Zone
Research Institute (CAZRI) in Rajasthan?

(A) Ajmer (B) Jodhpur

(C) Jaipur (D) Dausa

(E)  Question not attempted

HET Yh & SATHYH WA (CAZRI) &
AT TSI # e T ford 22

(A) 3T (B) SI¥q

(€) AR (D) dr

(E) i@ yy
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Name the State Bird of Rajasthan.

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

Peacock

Sunbird

Dove

(D)  Great Indian Bustard

(E)  Question not attempted
TSTET o TS T&fT 31 19 Jaisy)
frefetRad fospedt @ & aafieres 3ag ST
(A) ¥R

(B) wwE

(C) T (<9)

(D) T (e e sees)
(E) rgaid o

Laxmi Niwas Mittal, born in Rajasthan is a
famous personality in the field of:

Choose the most appropriate answer from the
options given below:

(A) Medicine (B) Sports

(C) Science (D) Industry

(E)  Question not attempted

et fame fore, e S TSeam 6 g 8, i
& &1 1 g BT 22

ffeRad fokedi # @ @aifaes 3ugw a9
A) Tafewr (B) @A

©) fomm (D) &m

(E) rgaid 9

Ila Arun, an artist born in Rajasthan is from the
field of :

Choose the most appropriate answer from the
options given below:

(A) Painting
(B) Kathak dance
(C) Poetry
(D) Folk - Pop Music
(E)  Question not attempted
ST | St ST 3707 Sl § &1 § aiferd 82
frfafad fosreat 7 @ watfae sagw® SR TH:
(A) Tomepe (B) IR T
(C) wfaar (D) AIh-9Tq |l
(E) rgaid 9
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In which region of Rajasthan has the Amrita Devi
Krishna Mriga Sanctuary been developed?
Choose the most appropriate answer from the
options given below:

(A) Bikaner (B) Pali

(C) Jodhpur (D) Kota

(E)  Question not attempted

frfefad & & Tsree & foher & & S1gar aeft o
T ST b ferhfere foma 82

frfeRad foskedt @ & @atiere Iug ST
(A) iR (B) AT

(C) SiEuT (D) T

Ao

(E) 3l o=

Which of the following species contains the
lowest amount (%) of lactose in their milk?
Choose the most appropriate answer from the
options given below:

(A) Cow (B) Goat

(C) Camel (D) Water Buffalo

(E)  Question not attempted

ST ¥ fore TSI o g8 H oI 2l ol e AT
(SferzreraT) gt 82

frfaRad foskedt # & @aifere 3ugw Sat I+:
(A) T (B) d&ir

C) 32 (D) it dg

(E) 3Tl o1

Palash forest is Not found in which of the
following regions of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Alwar (B) Ajmer

(C) Udaipur (D) Jaisalmer

(E)  Question not attempted

FAfRad o & IaTT 9 TSTE o fohd & o e
T ST 82

et fospedt 4 @ wafferes 3ug ST
(A) A (B) 3T

(C) ST (D) SEAR

(E) 3Tl o=
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Rainfall received in winter season in Rajasthan is
called:

Choose the most appropriate answer from the
options given below:

(A) Manas

(B) Mavath

(C) Aamra Varsha

(D) Phoolon ki Bouchhar

(E)  Question not attempted

Ster i) H TSR € Tl =TS oh el SraT &:
frmfeiaa fopedt 3 & @aifere 3ugw ST T
(A) #HHE (B) HE3

(C) Hast (D) el I SR

(E) aid 9

The New National Education Policy of the
Government of India has changed the school
education pattern from 10+2 to:

Choose the most appropriate answer from the

options given below:

A BRI shT 7T st favear <fifar & 10-+2 foremerfy

Taveam yomreft T Sed fear M B
ffaiaa fosredt # & waifie 3uges S0 T4
(A) 8+3 (B) 5+4+3

(C)  5+3+3+4 (D)  6+3+3

(E)  Question not attempted / 3T )

Ayushman Bharat a flagship scheme of
Government of India is a:
(A) Programme of Climate Control
(B) Programme to Control Pollution
(C) Programme of Health Insurance
(D) Programme of Flood Control
(E)  Question not attempted
HTI R, TR TR 3 T T AISHT -
(A) STy FrRior e
(B) g i 5 ke
(C)  TaTEe ST T SHRiHH
(D) e foor 61 iy
(E) It g4
[ Contd...
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At what rate of compound interest per annum a
sum of ¥ 900 will become ¥ 1089 in 2 years?
TR SIsha g SATST o fohd G T 900 T 2 U1 H 2
1089 BT SITEI?

(A) 10%
B) 12%
©) 15%
D) 18%
(E)  Question not attempted / ﬂﬁﬁﬁ Iq

The Capital of Matsya Mahajanapada was

Choose the most appropriate answer from the

options given below:

(A) Virat Nagar (B) Taxila

(C) Kaushambi (D) Videha

(E)  Question not attempted

HeET HETSUS ohl TSTEHT of:

Frerferfae et 3 & wrrtfires S S0
(A) foeTw (B) qefyren

(C) eIt (D) T

(E) Igaid 9=

Who was the first woman from Rajasthan to be
arrested during the Indian freedom movement?
Choose the most appropriate answer from the

options given below:

(A) Rama Devi Pandey

(B) Nagendra Bala

(C) Anjana Devi Chaudhary

(D) Laxmi Devi

(E)  Question not attempted

AR ST G & S TRER g areft
TSTEAT T T2 AfeaT i off?

frfafead faeredt @ & @aifaes 3ag® ST IA:
(A) TEtTwE  (B) AW ST

(C) Tt =ed (D) retft 3t

(E) Srfaiayy
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At the time of integration of present Rajasthan, in
the first phase, which was the first group to be
formed?

Choose the most appropriate answer from the

options given below:

(A) Greater Rajasthan

(B) Rajasthan Union

(C)  United Rajasthan

(D) Matsya Union

(E)  Question not attempted

TAHTT TSTET o hIeRlUT & THY, T8 <07 8, 5
FTAT ST EHE hIF-9T AT

frfaiaa fosredt 7 @ waifae 3ugw o 91:

(A) IRTRAE  (B) TS g
(C) FASUSEIN (D) Heed 6
(E) g gy

A person used to save 10% of his income. After
two years his income increased by 20% but he
could save the same amount as before. By how
much percentage has his expenditure increased?

Tk STk ST 3T T 10% = hLal gl &I a8 a1a
SHehT AR 20% e €l 1T wfeh o8 Teed fore &t
T <=7 1T B, A A SHehI G fohd TA9Td deh

S T R?
A 225% B) 245%

2,
©) 25%%
(E)

In a box there are three rows of toffees. The first

(D) 23%%
Question not attempted / 377 )

row has 60% more toffees than the second row
and third row has 40% less toffees than the second
row. If the total number of toffees in the box are
96, then the number of toffees in third row are:
ke B ST B e et 1 et e g
60% 3ferer 2T & S et FHar 7 ol ¥ 40%
A 6T §| AT BT HT FoT ST 96 2, AT A
FAR T T T HEAT &-

(A) 18 (B) 16
© 12 (D) 15
(E)  Question not attempted / 3174 e
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According to the 2011 census, which district had
the highest sex ratio in Rajasthan state?
Choose the most appropriate answer from the

options given below:

(A) Dholpur

(B) Jaipur

(C) Dungarpur

(D) Jaisalmer

(E)  Question not attempted

2011 I SV & ATAR TSI TST | qodd
e FeiraTer o et 22

e fpedt § & warlfores Sugw oo o
(A)  Heg

B) AT

©) I

(D) AR

(E) i@ yy

Which of the following districts had the highest
literacy rate in Rajasthan according to 2011
census?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
D)
(E)  Question not attempted

2011 3T STV o TR Frfaiad # & Tsree
o Torer T7eT <t wmeraT <X g 31fersh W
ettt frshedt & & wraffores Sugw S
(A) T

(B)
© &
(D)
(E)

Dausa
Tonk
Churu
Kota

KLM |
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Which of the following National Highway is a
major highway passing through Rajasthan, which
goes from Delhi to Mumbai via Jaipur, Ajmer
and Udaipur?

Choose the most appropriate answer from the

options given below:

(A) National Highway no-48
(B) National Highway no-9
(C) National Highway no-24
(D) National Highway no-3
(E)  Question not attempted

Fr=fafaa & @ =F-ar TdT ToEnt TeeH 8
IR ToRA Tl Y ST 2, S feeedt & Sy,
TSR 37 ST & B T HSS 1T 22

frfaRad foeredt # @ waifae 3ugw u I1:
(A) TS TSN HEAT-48

(B) USSR TSI HE&AT-9

(C) TSR TSI HE&AT-24

(D) TSR ST §E&AT-3

(E) 3@ g

Rajasthan Road Vision 2025 was prepared by
which of the following bodies?
Choose the most appropriate answer from the

options given below:

(A) NITI Aayog

(B) Planning Commission

(C)  Public Works Department Rajasthan
(D) National Highways Authority of India
(E)  Question not attempted

freafafaa & o fora femr & g sy T fosm
2025 T TR T o
frfaiad fokedt 7 @ @aifae 3ugw o I1:
(A) fifa s
(B) ST AT
(C) ek famfor foraamr T
(D) R TS TSR ITfRrehor
(E) raid 9
[ Contd...
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55  Which of the following rivers is associated with | 57  Which of the following diseases are transmitted

inland drainage system of Rajasthan? by air?

Choose the most appropriate answer from the a.  Tuberculosis b.  Influenza

options given below: c. Cancer d. Polio

(A) Sabarmati (B) Chambal Choose the most appropriate answer from the

(©)  Kantli (D) Banas options given below:

(E)  Question not attempted (A) aandbonly (B) bandconly

I N £ i (C) canddonly (D) aanddonly

(E)  Question not attempted

TR T e Freafefiaa # & @ 9 & I a9 T
frfeRad fospedt @ & wafiere Iug ST EE
(A) HIeRHdT (B) = oy
(C) wI=aett (D) & I =1
(E) 3rgaid 9 . a:a;
d.  ifEr
56  Which of the following is not a biodegradable =it faw T forshedt #§ @ waifere Iug SO I
waste? (A) Faet a A b (B) FacT b 3 ¢
Choose the most appropriate answer from the (C) FaAcINd (D) FadaIiRd
options given below: (B) oIgafd gy
(A) Banana peel
(B) Jute bag 58  Krishna Poonia, a woman player from Rajasthan

(C)  Fibres of coconut belongs to which sports?

Choose the most appropriate answer from the
(D) Polythene bag

) options given below:
(E)  Question not attempted

. } (A) Discusthrow (B) Boxing
ffafad & 9 wH-A1 Sig Mot sTafirs T8

(C) Badminton (D) Cricket

o . ] (E)  Question not attempted

frfafaa faeredt # & @aifaes 3ug® ST IA: O Ly S S M
(A) ot T fesetant & e 3

(B) S de e e & watfires T S
(©) e % (A) femmaar (B) ST

(D) difereli St (shm) (€) FefiieT D) fFre

(B)  orgafa s (B) oAt s

KLM | 12 [ Contd...
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On which festival in Shekhawati region of
Rajasthan do men dance in a circle playing a
musical instrument called chang?

Choose the most appropriate answer from the

options given below:

(A) Marriages (B) Holi
(C) Teej (D) Diwali
(E)  Question not attempted

TSTET o IETare! & H fore ciler W qey diftd
T T UM ST =TT HEATT &, ST g H T
FA 2

frfafaa faeredt o & @aifae 39g® 3T IA:
(A) foam (B) ®Iait

©) o= (D) feareft

(E) i@ yy

Which of the following is not included in Panchpir
in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Pabuji (B) Tejaji
(C) Ramdev ji (D) Gogaji
(E)  Question not attempted

frafefad o @ *iF Tsey™ ¥ Yedi 9 snfher T2
2

frfeRad fospedt @ & wafiere Iug Sa T
(A) wESH (B) dSTSt

(C) THF St (D) TS

(E) raid 9

A sold a piece of land to B at a gain of 20% and
B sold to C at a gain of 10% . If C paid ¥ 2,64,000
for it, at what price would A have purchased it?
A T U 3 T AT T 20% ST W B %I =T 3 B
T 10% o ST 3 @7 C 3T =T ATS C 9 o 3 AT
o % 2,64,000 FoHTaT 2, A1 A 4 34 fober o e
o192

(A) T2,00,000 (B) ¥1,70,000
(C) T2,50,000 (D) ¥2,20,000
(E)  Question not attempted / ﬂfﬁﬁﬁ Iq
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A sum of ¥ 1850 is to be divided among A, B and
C such that - A'sshare _ B'sshare _ 3
B'sshare C'sshare 4

Then A’s share is -

T 1850 &I A, B 3 C ¥ 39 Yepr fanfora femam
Awram  Barwrr 3

ST - Barwm Carwm 4

ar A fewar ®

(A) 500 B) T520

(C) 450 (D) 600

(E)  Question not attempted / N@ﬂ'ﬁﬁ 949

Find the fourth proportional of 2, 9 and 18.
2, 9 I 18 =T =T GHTATAT 1 hifST)

(A) 25 (B) 48
©) 76 (D) 81
(E)  Question not attempted / 3T )

In which place of Rajasthan is the Chulia waterfall
located?

Choose the most appropriate answer from the
options given below:

(A) Alwar (B) Kota

(C) Karauli (D) Chittorgarh

(E)  Question not attempted

AT STt STl TSTEIT T3 3 fohr &  feord 27
frefcTRad fospedl § & aafieres 3ag® ST
(A)  ITAIR (B) @hlaT
(€)=t (D) ferieTe

(E) rgaid o

Which one of the following districts had the
lowest population density according to 2011
census in Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Jalore (B) Jaisalmer
(C) Pali (D) Tonk
(E)  Question not attempted

2011 3T SAVET o TR Frfiad 3 9 Terem
o forer frer it ST o1 ocd ged o6 Am?

frfafad fosreat # @ watfas sagw® SR TH:
(A) SR (B) ST
(C) (D) <
(E) raid
[ Contd...
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On 23 September 2024 in which area of
Rajasthan the Sainik School was formally
inaugurated by the Raksha Mantri of India?
Choose the most appropriate answer from the
options given below:

(A) Ajmer (B) Jaipur

(C) Bikaner (D) Udaipur

(E)  Question not attempted

23 Toder 2024 it TSI F forw & § o=t
&Y § Hf7eh Thel 1 IFIS A o T HHAT o 510
[ERIRICI

foreferfiae foremed & & wrarffres sure et :
(A) I (B) SR

(C) (D) SEIR

(E) Srgaiaug

Which of the following article of the Indian
Constitution was amended significantly in the
year 20197

Choose the most appropriate answer from the
options given below:

(A) Article 370

(B) Aurticle 360

(C) Article 356

(D) Article 366

(E)  Question not attempted

AR "l @ A gese a¥ 2019 H
TECEU ®9 ¥ W o o w2

Frerferfan fasvesit § & Frarifores 3w SO
(A) 3% 370

(B) 3TT=E 360

(C) 3TT=2 356

(D) 3% 366

(E) Srfaiayy
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The average age of a husband, wife and their only
child is 22 years. Five years ago the average age

of husband and wife was 26 years. The present

age of the child is:
(A) Syears (B) 4years
(C) 3years (D) 2years

(E)  Question not attempted

qfe, et 3T Ueh s=l <l 3T 37 22 99 8| ai=r o
el fd-get i 3{1aa 37 26 a9 off| s st aaH=
3'5[%:

(A) s5a9 (B) 4a9
(C) 3a9 (D) 2§
(E) rgaid o

If the cost price of an article is 80% of the selling

price, then the profit percent is:

af foprelt aq o1 oF o 3k ToIoRa o T 80%
2, dl AT yfaera &

(A)  20% B) 22%

©) 25% (D) 30%

(E)  Question not attempted / 34@?1'&?[ BE)

A shopkeeper sold two pens at the same price.
One is sold at a profit of 10% and other at a loss
of 10%. The overall profit or loss percentage is:
(A) 1% loss (B) 1% profit

(C) 2% Iloss (D) No profit, no loss
(E)  Question not attempted

T GHMER Al T hl FHH I T S=idT 8l Th
10% o ST 9T 3R EL 10% T T al= SIreft €,
e AT AT BT T Tlerd €

(A) 1% B) 1%

(C) 2%FT (D) T, TR

(E) 3rgaid 9

An article is sold at a loss of 15% . Then the ratio
of selling price to cost price is:

T TR 15 % B T = ST 21 A 36 sk
T SR T qod T A &

(A) 13:20 B) 19:20
) 17:20 (D) 21:25
(E)  Question not attempted / 31@?!‘?(?[ Iq
[ Contd...
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Mukundra and Bundi hills are located in which of
the following physical regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Eastern Plain Region

(B) Western Desert Plain Region
(C)  South Eastern Plateau Region
(D) Aravali Region

(E)  Question not attempted

TSTEAT o e ITTITCTe &1 Tohesl 3T gt b

frefafaa faered 3 & aaffers suge S0 I+
(A)  oeff Berft &

(B) ufeft wererchi fer e

(C)  aferor oaif vori &

(D) el &

(E) a9

Which of the following soils is found in
Ganganagar, Hanumangarh, Alwar, Bharatpur,
Jaipur and Tonk regions of Rajasthan state?

Choose the most appropriate answer from the

options given below:

(A) Lateritesoil  (B) Saline soil

(C) Alluvialsoil (D) Black soil

(E)  Question not attempted

TSTE TS o TN, TIARTG, 3R, FAE,

SR FR e &t | fefafiad § € i & qer arg
ST 82

foretferfer feredt & & affares sug St o:
(A) WWEEHE  (B) AU HE

(C) Seflgyar (D) el gE

(E) Srgaiaug
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Which one of the following statements is not
correct about black soil in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Itis a Cheeka dominated soil.

(B) It contains enough quantity of nitrogen.

(C) Thissoil is found in Kota, Bundi and Baran
regions.

(D) This is fertile soil for Rice, Sugarcane and
Soyabean crops.

(E)  Question not attempted

FrferRad & & H9-91 T U= TSTEIT § et gat
o Hed o et T 22

frefafaa fosredt & & @aifas sug® s TH:

(A)  TE <fehT Y= HaT R

(B)  SEH TEATH WA H SIS SR BT 2l

(C) I T hieT, Siat 37 SR &5 & uTs SITeft 2

(D) I H&T F1F, T Td FRITET FHAT o fofT
IUSATS 2l 2

(E) 3 w4

The famous Agni dance of Jasanathi Cult
originated from which place in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Bikaner (B) Barmer

(C)  Jaipur (D) Bundi

(E)  Question not attempted

srETeft v o w31 To i Seaftr TS R
oy T A g 2

Frerferfige et & & et Sugw o0
(A) R (B) SIS

(€) SR D)

(E) 3Iqdita g
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For which folk drama in Rajasthan the stage is set
in an open colony or a courtyard of the market?
Choose the most appropriate answer from the
options given below:

(A) Jatra (B) Bhavai

(C) Jagore (D) Rammat

(E)  Question not attempted

TSTEAT H foh® SATHATET T He el hiciT a1
SIS 3 ek 0T § foharm ST 22

frefeiad fospedt 4 & waffere 3ug ST
(A) SIET (B) s

(C) SR (D) T

(E) 3Tl o=

Identify the correct statements given below:

a. Kallaji, who displayed exceptional bravery
and courage during the invasion of Chittor
fort by Akbar, is popular as a four handed
folk deity in Mewar region.

b. It is believed that even after Kallaji was
beheaded, his torso reached Rundela while
fighting the Mughals.

c. Kamadia panth was formed by Kallaji.

d. Pabuji is worshiped as the God of camels
in Rajasthan.

Choose the most appropriate answer from the

options given belowr:

(A) a,b,conly (B) b,c,donly

(C) a,b,donly (D) a,c,donly

(E)  Question not attempted

71 9 & I el ST 9EaH i

a.  whodl, NRIM TR & fomiie it W
TSRV & SN STETIROT ST S dred
fema o, Terre & § = el ATl dlehead
% &7 AR 2

b. U HET ST @ R shearrsit 1 T wred &
aTe +ff Tl ¥ TS T IR 9 FSA TH
REEREIRI

c.  ShoolTSit gRT HHISAT gor Y T Y 71 ot

d. TSR H UTS[ST S2i o ol o &9 H St ST

H
et faq T forshedt 7 @ waifaes 3uge S I:
(A) *ada,b,c  (B) HAADb,c,d
(C) @deta,b,d (D) Hada,c,d
(E) 3Tl o=
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Who was the famous folk singer during the
princely movement of Rajputana?
Choose the most appropriate answer from the

options given below:

(A) Ganeshi Lal Vyas

(B) Rana Bai

(C) Chand Bardai

(D) P.K. Mishra

(E)  Question not attempted

TSI o FATE ST oh 3R TTHE AT/
IR i 1/eft?

frfaiaa fosredt 7 @ waifae 3ugw 3o 91
(A) TORA AT ™ (B) U ETE

(C) TeaER (D) .o, fem

(E) g gy

Who among the following first used the term
Rajasthani in 1912 in the linguistic survey of
India for the language of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) George Thomas

(B) George Abraham Grierson
(C) George Helenski

(D) George Fernandis

(E)  Question not attempted

frmfeafiga @ o foree gdwem 1912 9 wyrRdlT wmT
Ao § TS hl 91eT o foTq Trsreerr wrse w1
T feRa om?

frfafad fasreat # @ waifas 3agw SR T
(A) SitSt 9HE
(B) SISt a1siTed firres
(C) SIS goteeht
(D) SIS BATSH
(E) Agaia s
[ Contd...
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The present governor of Rajasthan is: (As on 01
September 2024)

(A)  Shri Kalraj Mishra

(B)  Shri Kalyan Singh

(C)  Shri Haribhau Kishanrao Bagde

(D)  Shri Bhajan Lal Sharma

(E)  Question not attempted

TSTEYH o TAUH TR (Teh Faawsi 2024 @) &
:lTQ%:

(A) ot TS fgem

(B) oft e fig

(C) ff sftars forerra are
(D) off oI et It

(E) rgaid 9

Who among the following was appointed as the
Deputy Chief Minister of Rajasthan in December
2023?

(A) Jogaram Patel (B) Manoj Baghmer
(C) DiyaKumari (D) Sumit Godara

(E)  Question not attempted

fearart 2023 H 54 ¥ fore Troreert o1 37 gt
[ERNAERIRIRIV

(A) SIREUEA  (B) HAN STOET

(C) Teamsad (D) gl MeRT

(E) 31Tl 9

The main problem in the agricultural growth in
Rajasthan is:
Choose the most appropriate answer from the

options given below:

(A) Very small number of farmers

(B) Limited availability of fertilizers

(C)  Erratic rainfall

(D) Limited number of tractors for agriculture
(E)  Question not attempted

TSTEAT o 1Y forerd & e ST o
frfafiaa faercedt o & @aifas 3ug® ST IA:
(A) ToramT 6t sIga %7 den

(B)  3athI st Hifira Suctserdr

(C) Afafia aut

(D) S o fore ifira gt bt g

(E) 3Tl o=
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In the normal human eye, light is focused on:
Choose the most appropriate answer from the

options given below:

(A) Pupil (B) Retina

(C) Iris (D) Lens

(E)  Question not attempted

T {451 8§ TehTRT ohisd Bldl 8-
frffiad et 3 & waifires Suge 390 T:
(A) aet (B) Ue/giEHee
(C) wrsfamfaE(D) <

(E) rgaid g

Select the option among the following against
which regular reflection will take place:
Choose the most appropriate answer from the

options given below:

(A) Chalk Powder

(B)  Piece of paper

(C) Polished smooth wooden table
(D) Cardboard surface

(E)  Question not attempted

frfafed & @ 3w faerey =1 e e Fafira
tlTI?:l?h‘sﬁ'dT%

frfafad fasheat # @ waifae Iagw S0 T
(A) ek UISST
(B) RIS T ZheT
(C)  TfcTT o1 g3 TohgT ol forehlt #sT
(D) HISHIE 6l g
(E) raid
[ Contd...
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Match List-I with List-II.
List-1 List-II
(Gland) (Its Location)
a. Pituitary L Kidney
b. Thyroid II.  Brain
c. Adrenal II.  Neck
d. Thymus IV.  Chest
G=fl-1 ot F=-11 6 gafora i)
g1 Teft-11
cifen (Rerer 7)
a. frehclm L T
b.  UREE . HAfash
c. UEHAA L. T
d.  aHE Iv. ol

Choose the most appropriate answer from the

options given below:

= faw e foehedt & & @atfere Sug ST 94:
(A) a-I,b-1IV,c-1III,d-1I

B) a-ILb-NLc-I,d-IV

(©) a-I,b-I,c-1I,d-1V

D) a-IV,b-Ulc-1,d-1I

(E)  Question not attempted / ﬂ@ﬂﬁﬁ EE

How many bones are there in an adult human
being?
Choose the most appropriate answer from the

options given below:

T A T ST o e fohat 2t 22

frfafaa faeredt § & @aifae Iug® 3T IA:
(A) 128

(B) 198

(C) 206

(D) 318

(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq
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How many chambers are there in a normal human
heart?
Choose the most appropriate answer from the

options given below:

(A) Five (B) Four

(C) Three (D) Two

(E)  Question not attempted

Teh HTHTT 019 889 § foha TehiS Bid 82
frfafad fosredt # @ waffae 3agw® S0 TH:
(A) U= (B) X

(C) = D) @

(E) I g

Human beings have types of teeth.
Choose the most appropriate answer from the

options given below:

(A) Two (B) Three

(C) Four (D) One

(E)  Question not attempted

T 7 R YRR % 3T B 2

frmfafiad foskedl # @ waifae 3agw® SR TH:
(A) @& (B) o

(€) W D) T

(B) 3t w4

“Hawa Mabhal” situated in Jaipur (Pink city) was
designed by which architect?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

Sawai Pratap Singh

Sawai Jai Singh

Lal Chand Ustad

(D) Ustad Hawa Singh

(E)  Question not attempted

ST (TSl ) 7 Feor gl weer” o ameqei
g fesie fomem mam
frfafad fosredt 7 @ watfae 3agw® IR T
(A) waRwamfae (B) e smfaE

(C) W=EESHRE (D) %€ ga fbg
(E) It g4
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‘Folk songs are the language of people, they are
the custodians of our culture’.

Who made the above statements?

(A) Rabindra Nath Tagore

(B) Mahatma Gandhi

(C) Sardar Patel

(D) Jawahar Lal Nehru

(E)  Question not attempted

e AT ST T 2, 3 R e e
(A) TETLAMN  (B) HeTcHT et

(C) TERUHA (D) AT AT 6%

(E) 31l o1

Which of the following vaccine is used for
broilers in poultry?
Choose the most appropriate answer from the

options given below:

(A) Marek’s Disease Vaccine

(B) Ranikhet Disease Vaccine (F strain)

(C) Ranikhet Disease Vaccine (R,B Vaccine

(D) Ranikhet Disease Vaccine (F strain
booster)

(E)  Question not attempted

FApe H SIS o o i €t SareftT (2¥ehT) SRITT
foram STTaT 82

frfcaRad o & ge S foehed I
(A) TR T 6T ST

(B)  TRaa T &t ek (F &)

(C) TEd T o1 Rl (R,B epm)
(D) TR T 3T T (F T )
(E) 3Tl o=
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Which of the following vaccine is given on day 1
in poultry industry?
Choose the most appropriate answer from the

options given below:

(A) Gumboro Disease Vaccine

(B) Fowl Pox Disease Vaccine

(C) Ranikhet Disease Vaccine

(D) Marek’s Disease Vaccine

(E)  Question not attempted

FAFE ITUN H 8T 2T Tt fo foarm simar 22
frfafad fashedt 7 @ waifae 3agw® SR T
(A)  TRIRT T T ST

(B)  eFehe =Iwich (ISeT UTerd) T STehl

(C)  Tra T ot Yehr

(D)  HTR UTT T ST

(E) 3Iqdita g

Which of the following is most appropriately
connected with CARI-NIRBHEEK?
Choose the most appropriate answer from the

options given below:

(A) Camel

(B) Goat

(C)  Sheep

(D) Poultry

(E)  Question not attempted

frefafad & @ wF-ar & - fffd (CARI -
NIRBHEEK) ¥ Tar¥l T &9 § ST g1 87

frfafad faereat 4 @ waffas Iag® 3T TA:
A e
(B) &
©) ¥
(D) FFE
(E) 3Iqdita g
[ Contd...
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94  Which of the following is not correct about camel | 96  Animal husbandry does not include:

pox? Choose the most appropriate options from the
Choose the most appropriate answer from the given below:
options given below: (A) Breeding of livestock

(A) This is a bacterial disease. (B) Poultry farming

(B) There are high chances of the disease in 6
(C) Zoo management
months to two years of age group.
) ) . ) (D) Fisheries
(C) This mainly occurs in summer and rainy
(E)  Question not attempted

season.
(D) Duration of the disease is 2-4 weeks. Wﬁa‘&q‘%ﬁqﬁ%z
(E)  Question not attempted Foreferfiea fershedt & & waiferen Ww%\'ﬁ
T TR o SR H 3T U T =3 (A) RIS
frfeRad fospedt # & @afiere Iug ST (B) T UTeH
(A) I8 AT AT T 2 (©) fafeamsr yeiem
(B) 6 TWIEH 23 o 377 WHE H 39 U o & bl (D) weer e (ATfeaar)
TRy FRITHT Tadt R (E) sfaTs

(C) e ST THT qoIT I@T Sh ] H BIT 2
(D) 39 ATl e 2-4 GHTE R
(E) 3Tl o1

97  Which of the following statements is not correct
about camel?
Choose the most appropriate answer from the

95  Which of the following is responsible for Tibarsa/

. . options given below:
Sarra disease in camels? p g

Choose the most appropriate answer from the (A)  Dromedary camel has only single hump.

options given below: (B) Vitamin C is not found in camel milk.

(A) Virus (C) Bactrian camel has two humps.

(B) Bacteria (D) Camel hump do not store water, they are
(C)  Protozoa full of fat.

(D) Nutritional deficiency (E)  Question not attempted

EE) ‘ Question not attempted ‘ AreRifad B & $2 % o T F-97 FIT 30T 20
:;mﬁ;wmﬁﬂﬂ%mﬁﬁ%%ﬁﬁﬁaﬁ? S Y
PSSR B S N — (A) SHEA S Fet O 73 oI &

() frmy z ° (B) 3 % g ¥ forerfirt oft et o St 21

(B) Sfamy (€) sl FAFIS A2l

©) weReT (D) 3 o Fore T I Hferd 72 Bar, o @ & W
(D) T EeR ) Sk

(E) Srfaiayy (E) 3Iqdita g
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Which of the following is correct about the
administration of Marek’s disease vaccine in
poultry birds?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
D)
(E)  Question not attempted

Fage uferl o AN AT Ik W U I
frfefaa o & S-a1 gt ader 22

frfafiaa faeredt o & @aifas 3ug® ST IA:
(A) dHFHUEHH

(B)  3T=-U¥fid & ¥ Sirer <hr Ufvry o

(C) Tt o |ry i@t |

D) TEH

(E) 3rgaid 9

In drinking water
Intramuscularly in thigh muscle
In eyes with water

By scratching

Which of the following districts had the highest
population growth rate in Rajasthan during the
decade 2001-2011?

Choose the most appropriate answer from the
options given below:
(A) Sirohi

(C) Ganganagar (D)
(E)  Question not attempted

2001-2011 % 31 § FHTAREd § & TSEIH &
oy ot i ST 3 T TR St ofio
frfeiad fospedt # & wafiere 3ug ST
(A) T (B) e

(C) TR (D) @i

(E) 3rgaid 9

20%

income. If the income of P is ¥ 2780, then what is

Barmer
Kota

B)

of income of P is equal to 10% of Q’s

the income of Q?
P &l ST T 20%, Q T ST 10% o sk 81 AT
P &t 31T T 2780 ©, AT Q Sl 31T T &2

(A) T5560 (B) 35680
(C) T 8340 (D) T 5460
(E)  Question not attempted / ﬂ@ﬂﬁﬁ I
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Sushil borrowed ¥ 6000 from Shashi at simple
interest. He repaid ¥ 9000 to Shashi after 4 years.
The rate of interest charged by Shashi is:

IS T 6000 HTETRT ST WX IR & IR el 21 4
a9 918 9 TIRT & X 9000 THMT 8 AR fohe

SifcreTel 3T & | SATS ST 22
(A) 85% (B) 12.5%
©) 10% (D) 11.11%

(E)  Question not attempted / T )

A certain sum of money is deposited in a bank,
which pays simple interest at the rate of 5% per
annum. In how many years will the sum of money
double itself?

(A) 10 years (B) 15 years
(C) 20 years (D) 25 years
(E)  Question not attempted

e fare emfsr wes S § S STt 8, S 5%
yfdad I e & R sq 2t ?) forad ant §

ST T & ST

(A) 103§ B) 15a9
(C) 20§ (D) 25a9
(B) Sgaidyy

An amount of ¥ 23,500 is to be divided amongst
A, B and C in the ratio of é_%l? Then the

share of C is:

223,500 FITRF A, B3 Hefra T4+ &
3T # ferTfor fopa S 81 4 € e @
(A) T 4700 B) %6000
(C) Z5375 D) %7833

(E)  Question not attempted / 3 )

Two numbers are in the ratio of 5 : 11. If their
H.C.F. is 7, then the larger of the two numbers is:
3l HEATSAl N SIU S5 ;11 2| A AR weww
TYTYadeh 7 8, A1 34 141 | o2l 6T 2:
(A 11 B) 55
< 77 (D) 66
(E)  Question not attempted / 31':13?1”&?[ BE
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105 The least number which when divided by 6, 7and | 108 Which of the following branch of Biology deals

8 leaves a remainder 5. is: with principles of inheritance?
,1s:

HoR B T R 6, 7 37 8 & T Choose the most appropriate answer from the
) options given below:
et 3 3T|?1T%, o e e 3 (A) Genetics
(A) 171 (B) Ecology
(B) 168 (C) Embryology
©) 173 (D) Cytology
(D) 170 (E)  Question not attempted
(E)  Question not attempted / ﬂ@ﬂﬁﬁ Iq et & & s-foar <1 = <t e <t
o Tt & Heifa &2
frfaiaa foeredt 7 @ waifae 3ugw ot I1:
106 The average of first 5 multiples of 12 is: (A) @ﬂaﬁlﬁﬁ
12 3 ST OT<f 0Tkt o7 370 2 (B) uififeerfaehr
(A) 48 (B) 50 (C) it
C) 36 (D) 24 (D) e fom
(E) raid 9

(E)  Question not attempted / aaﬁﬁ?f Tq

109 External appearance of an individual (organism)

107 Which of the following flower colour expresses is called as:

as dominant trait in garden pea plant? Choose the most appropriate answer from the

Choose the most appropriate answer from the options given below:

. . . (A) Dominant character
options given below:

(B) Genotype

(A) White (B) Golden
(C)  Phenotype
(C) Black (D) Violet
(D) Homozygous
(E)  Question not attempted (E)  Question not attempted
IS T (W) o el 3 T 3T ShI-§T 4T STt T fereft Sfir o1 SITaT WeRdTeRoT e &
% &9 I 31fyeah BT 22 frfafad fasreat # @ waifas 3agw SR T
frftfaa forsedt 3 & waifares s S0 (A) STt <

(B) SwET (SR
(C) TATIEYT (FIHIITET)
(D) wHIwH

(B)  STTaied e (E) St o4
KLM | 22 [ Contd...
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Which animal keeps on chewing continuously
even when they are not eating?
Choose the most appropriate answer from the

options given below:

(A) Lion

(B) Snake

(C) Buffalo

(D) Dog

(E)  Question not attempted

15T ] ST SIS TEell &, T o %o W Tl
QT T8I 8?

frfafad faeredt # & @aifae Iug® ST IA:
(A) W ()

(B) did (&)

(C) 9=

(D) T

(E) 3rJaid 94

Which of the following method should be adopted
to produce a pure line in cattle?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

TR H Y5 TR STH 3 o TeTe et Rad o &
T 9t farfery oS ST =few

Pttt fasredt 3 & warffires sugw 3o 3,
(A) SRS

(B) IHd:IST

©
(D)
(E)

Outbreeding
Inbreeding
Outcrossing

Cross breeding

EIEnu]
HHTT
AR 99
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Which is the originating place of Luni River in
Rajasthan state?
Choose the most appropriate answer from the

options given below:

(A) Chaurasi Garh

(B) Naga hills of Ajmer

(C) Rupal Glacier

(D) Minda mountains of Vindhyachal
(E)  Question not attempted

AT T T I TSTEA TS o fohdf T € g
22

frfaiaa fosredt 7 @ waifaes 3ugw at I1:
(A) S T

(B) SIS & 1T YRS

(C) @ud feme

(D) Toreamaet & firer wda

(E) rgaid 9

Indira Gandhi Canal project is located in which
of the following physical regions of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

e et T afEST TSTe o Fefafed 5§ 9
foper siiTiforen &=  feord &2

frfafad fasredt # @ waffae 3ag® SR T
(A) e FeeereiT e e

(B) e &

(©)  ef srar &t

(D)  afagor it vorte &

(E) a9

Western Desert Plain Region
Aravali Region
Eastern Plain Region

South Eastern Plateau Region
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114  Which of the following statement is not correct | 116 Name the first mammal (animal) to be cloned:
about reproduction in camels? Choose the most appropriate answer from the
Choose the most appropriate answer from the

. . ) options given below:

options given below:
(A) For reproduction, camel should not be (A) Raani

younger than 5-6 years. (B) Dolly
(B) For reproduction, camel should not be

(C) Meesha

older than 20-22 years.
(C) In winter male camels are given more (D) Keeto

nutritious food. (E)  Question not attempted
(D) ’31";1(6): izztz;tlon period in camel is generally i1 Top i1 1t A Gl@ I

-400 days. . :

(E)  Question not attempted Ferfefiaa e i'ﬁﬁ“a“s’a"”é’ “;W%\ﬁ:
frefafad & & 32 % 571 & IR H SIH-97 FIT Tt (A) T
b " | B) el
frfeiad fospedt 4 & wafiere 3ug ST
(A) S % g, J2 T 7Y 5-6 9§ FH ARl (C)

BT =nfey (D) H
(B) tﬂjé@%@, 32 T AT 20-22 T4 § Al (E) srmRa T

T B =R
(C) Tl H T3t ol 3T Uk HiSi T STTaT

2l 117 Which of the following is an important grass used
(D) S # ToiehTel T 7T AHT=TE: 380-400 as animal fodder in Rajasthan?

R 3 Choose the most appropriate answer from the
(E) emﬁ‘crg a5 'pprop

options given below:
115 The animals which give birth to young ones of (A) Moorat (Penicum turgidum)
their own kind are called: (B)  Sares (Albizzia lebbeck)
Choose the most appropriate answer from the
options given below: (C)  Peelu (Salvadora sp.)
(A) Viviparous (D) Aradu/Maharukh (dilanthus excelsa)
(B)  Oviparous (E)  Question not attempted
(C) Invitro fertilized animals . .
. frefafad & o goea™ | ugr 9n & fore &
(D) Ovoviviparaous ©
(E)  Question not attempted ERICEIC] ST T ST 82
éa@%ﬁm@mwﬁ?ﬁﬁwéﬁié frfafaa foskedt 3 & @aifere suges ST
A . . A) T (@ e
Frrferfiad faepedt 3 & watfires soge so0 T @) R )
(B) 3feuSh ©) W @errEdt)
C) v fmfaa s
© ° (D) HAN/FERE (Tct-oH TFIeH])
(D) ST
(E) oafa vy (E) oigafea v
KLM | ¥ 24 [ Contd...
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Which of the following animals are commonly
reared by pastoralists in arid region?

Choose the most appropriate answer from the
options given below:

(A) Cattle and Sheep

(B) Pigs and Dogs

(C) Ducks and Fish

(D) Cow and Goat

(E)  Question not attempted

SATE] g Y[ & ffafad § & S €9 8
& STl ) e ST 27

freteiaa foreredl # & Faffere 39 It I
(A) a3 S

(B) g FA

(C) @ A St

(D) T IR TR

(E) 31Tt o1

The term pastoralism refers to:

Choose the most appropriate answer from the
options given below:

(A) Trade and Commerce

(B) Rearing and herding of animals
(C) Hunting and gathering of food
(D) Farming and cultivation of crops
(E)  Question not attempted

YIS’ I1e¢ ol 37 &

frfeRad foskeal @ & @aiiere 3ug Sat
(A) SR SR aTivre

(B) i3l T IT-ATYT ST TR

(C)  TITohR AT 3T IS Tohed T

(D)  WIfET (Tt 37 Ha Scare

(E) 3Tl o1

Who among the following sports persons, from
the state of Rajasthan, represented India at Paris
Olympics in 20247

(A)
(B)
©)
(D)
(E)  Question not attempted

= fou e Rt & @ Teteerm Usa © fore uf
ST 2024 H WA T ST foRaT om?

(A) IR STEEeT (B)  TNiE g

(C) Wead=ied (D) T&H

(E) 3Tl o=

Yashaswi Jaiswal
Gajendra Singh
Maheshwari Chouhan
Muskaan
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The total number of medals won by India in

Paralympic 2024 at Paris is:
2024 T YRE UreifUes § YRA SR Sfid T et i

(A) 28 B) 29
©) 30 D) 31
(E)  Question not attempted / 31':1)?1'&?[ Iq

Select the name of 1% and only woman Chief
Minister of Rajasthan from the following:

(A)
(B)
©

Smt. Vasundhara Raje
Smt. Shila Dixit

Smt. Sushma Swaraj
(D) Smt. Sucheta Kriplani
(E)  Question not attempted
= fou foshedt & & USeAT T gEel 7R TR
(A) et agau st

B) it e ifera

(C)  Hiwelt goreT TSt

(D) #fiwelt gear FHuet

(E) rgaid o

Match List-I with List-II.
List-I (Element) List-II (Colour)

a. Sulphur L Pink

b. Chlorine II.  Yellow

c. Phosphorous  III.  Green — Yellow
d. Oxygen IV. Colourless
-1 o @ -1 37 fore il

-1 (@) FeA-11 (7T

a. "Wl I Tt

b.  FARH I dier

c.  HEHRA L &0-dier

d. AT V. A

Choose the most appropriate answer from the

options given below:

Frer fow T fereredt & & wartferes suge SHT:

(A) a-ILb-M,c-1,d-1IV
B) a-1V,b-Ill,c-1I,d-1
(C) a-Lb-1V,c-II,d-1I
(D) a-IlLb-IL,c-1V,d-1
(E)  Question not attempted / agﬁﬁ—cr Iq
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124  Which of the following is the correct formula for

number of images formed for an object placed
between two plane mirrors inclined at a certain
angle?

Choose the most appropriate answer from the

options given below:

Numbers of image (N) =

(A) ( 360
angle between the mirrors

J-1

Numbers of image (N) =
B) ( 180 )

angle between the mirrors /

Numbers of image (N) =
© ( 90

angle between the mirrors

)+1

Numbers of image (N) =
(D) ( 180 )

angle between the mirrors

(E)
forelt forrar sp1oT oX 3T 31 wHaet ggurt o ff=r it
T o S ATe FIATSra bl AT o6 ferg, fFeferfad

Question not attempted

Y I 81T e 22

frfeiad foskedt # & wafiere Iug ST
N 360 )
(A) it @1 dear N e e— I
s & den N = 180 1
® ot @ A A )
s o e N = 20 +1
© Srapera——
iRt o chem N = 130 "

(D) S

(E) rgmiid g
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Who was the first Rajasthani to be awarded the
Paramveer Chakra?
Choose the most appropriate answer from the

options given below:

(A) VedPrakash (B) Shaitan Singh
(C)  Piru Singh (D) Surendra Singh
(E)  Question not attempted

TSR =5k & FHITHT B Tl T9H TSTEHT i
A9

frfaiaa foeredt # @ @aifae 3ugw I 91
(A) o€ TR (B) = fz

() dwfhr (D) ge=fie

(E) rgaid o

That poetic text where the description of glory,
wars and valour of a king given is:
Choose the most appropriate answer from the

options given below:

(A) Veli (B) Vigat

(C) Raso (D) Rupak

(E)  Question not attempted

I8 1A T FSraH TS o TRawTel! a9, I8 3R
ST T Ui T &, 3% 7

TrfaRad fosked 3 § @aiiae 3ugw ut 91:
(A) Tt B) fame

(C) TEr (D) ®UF

(E) raid o

Kuchamani Khyal was started by which famous
folk dramatist?
Choose the most appropriate answer from the

options given below:

(A) LalaRam (B) Lachhi Ram
(C) Nanu Ram (D) RajaRam
(E)  Question not attempted

ST BT Sh YT (o8 STHG, ATeh ATeohar i
<t off?

frfafad fasreat # @ watfas 3ag® SR T
(A) ATTH (B) <= U
(C) AIW (D) TSTIH
(E) raid
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On the occasion of Teej festival in Rajasthan,

women mostly wear

Choose the most appropriate answer from the

options given below:

(A)

(B)

©

(D)

(E)

TSTET 5 A1 o TSI o S8 W ATy SRRt
Tl

frfaRad foskeat # & @atiere 3ug ST

(A) e gi=T

(B)  RIAT oTid <l 3Tt

(C) el wet

(D) et dre=

(E) Srfaiayy

Blue Pomcha

Lahariya Bhant ki Odhni
Lahariya Turban

Pink Pomcha

Question not attempted

The saying ‘Saat vaar, nau tyohar’ (Seven days,
nine festivals) is associated with which state of
India?

Choose the most appropriate answer from the

options given below:

(A) Bihar (B) Odisha
(C) Gujarat (D) Rajasthan
(E)  Question not attempted

“HTd IR A BN IE FHEEd W o fohE T57 9
Hsiferd 27

frfeiaa fospedt § & wafiere Iug ST
(A) foEr (B) sfifgem

(C) Toa (D) TSI

(E) 3Tl o=
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In Rajasthan, inserting a gold nail in the middle
of teeth by women is called:

Choose the most appropriate answer from the
options given below:

(A) Choonp (B) Baari
(C) Borla (D) Daamana
(E)  Question not attempted

TSR | AfeeAts? gRT gl o s @ 6l i
SUIEECARCTARS GRS

frefetRad fospedt o & wafieres 3ag ST
(A) =T (B) @

(C) e (D) AT

(E) rgaid o

In Rajasthan goddess Sanjhi is an incarnation of:
Choose the most appropriate answer from the
options given below:

(A) Usha (B) Seeta

(C) Parvati (D) Laxmi

(E)  Question not attempted

TS 7 3t Tl fore a1 S/aar 82
Trfaiaa foskedt 7 @ @aifas 3ugw o I1:
(A) = (B) ©far

(C) urddr (D) oTeHt

(E) It w4

Which of the following physical regions of
Rajasthan shares its boundary with Pakistan?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
D)
(E)  Question not attempted

frfafaa & & ToE™ 1 HH-A1 Wi &
TSR o TTeT EHT | 3hLaT 22

frfafad faereat @ @ waffaes Iag® 3T T:
(A) feror golf gardt &

(B) o AaHT &=

(C)  afet I &

(D) SRae &

(E) rgaid 9

South East Plateau Region
Eastern Plain Region
Western Arid Region
Aravali Region
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Which one of the following states does not share
its state boundary with Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Haryana (B) Maharashtra

(C)  Gujarat (D) Madhya Pradesh
(E)  Question not attempted

frefafaa & @ #9491 T T5T TIEAE & 9y
SOt T E T WIS T T 82

frfafiaa faeredt o & @aifas 3ug® ST IA:
(A) sfmm (B) HEWrSZ

(C) TSR (D) THIRT

(E) 3rgaid 9

Which of the following forests is found only in
Mount Abu region of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Palash

(B) Salar

(C)  Sub-tropical Mountain
(D) Tropical Thorn

(E)  Question not attempted

frafafiad & & o & o Shaet A1Se 3179 & o 9T
ST 82

frfafaa faeredt # & @aifaes 3ug® ST IA:
(A)
(B)
©)
(D)
(E)

AT
TR
AT i g
IR T FHieaR
AR 9
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Rajasthan receives most of its rainfall from
monsoon.
Choose the most appropriate answer from the

options given below:

(A) SouthEast  (B) South West

(C) North West (D) North East

(E)  Question not attempted

TSTE § Faifee auf AT § ST
et 2l

frfafad fasreat # @ waifae 3ag® SR T
(A) oyt (B) aferurufym

(C) T-ufEm (D) IRt

(E) g gy

The gland that secretes insulin is and

prolonged low secretion of insulin leads to

Choose the most appropriate answer from the

options given below:

(A) Pancreas, Gout
(B) Pituitary, Diabetes
(C)  Pancreas, Diabetes
(D) Thyroid, Gout
(E)  Question not attempted
a7 T i Sg o e et 8 8 3l
T o TRTTAR 7 S0 & B ST@T 2
frfaiad fosredt 7 @ waifaed 3ugw ot I1:
(A) AT, TS (i)
(B)  fuegel (), wyne
(C) TR, HHE
(D) RIISE, TT3E (Tfeam)
(E) raid u
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137 AIDS does not spread through: 139 Galvanization is a process in which iron objects
Choose the most appropriate answer from the are coated with to protect them from
options given below: .

. . rusting.
(A) Use of infected syringe .
(B) TInfected mother to foetus Choose the most appropriate answer from the
(C) Handshake with the patient options given below:
(D) Transfusion of contaminated blood (A) Silver (B) Zinc
(E)  Question not attempted (C) Brass (D) Gold
AIDS (Tg¥) < ST T thera 2 . (E)  Question not attempted
frfafeaa faeredt 4 & @aifaes 3ag® ST P
(A) EEhiud S 1 AT TG FE S aﬂ‘@ AR
(B) skl wraT & yor T ST TR ST 2 S 38 S o
(C) Tt =afer & = frern T ST ST Heh
(D) TR T 1 ST freafafiaa foeredt & & @aifas sug® s TH:
(E) 3Tl o1 (A) S ®)
138 Match II:ist-; with List-IL. o (©) daa (D) @t
ist- ist- :
(Type of (Source of waste) (E) » R
waste)
a. Pen Drive L Hospital waste 140 A magician plays a trick and adds a colourless
b. Used syringe Il E-waste solution to a glass of ammonium hydroxide
Not easily Il Kitchen welig solution and astonishes everyone with white
degradable ) ) )
fumes of ammonium chloride. The added solution
waste
d.  Vegetable IV. Plastic materials WA
peels Choose the most appropriate answer from the
Hﬁ'l ajaiﬁ-ﬂ ﬁg‘ﬁ%ﬂﬁﬁm options given below:
-1 TE-11 (T . .
& & A)  Sodium Chloride
(eruf3TE @1 T HId) &) _ .
) (B)  Sodium Hydroxide
a. UTgREd I ST STafrg (C)  Hydrochloric Acid
b. TN I 3-379f3re (D) Nitric Acid
farfts (ﬂs) (E)  Question not attempted
c. wrmtﬁ:r I1.  TEIEE 3T ST o T T Fe # i s g
2 aTa ST wﬁmﬁw%ﬁwﬁﬁm%wwﬁﬁ
d. afscwi sk foers V. welfies g ST FAITEE o The T § Ffchet AT 3T
Choose the most appropriate answer from the IEKIRIRIPINECEERIE
%}%ﬁ%ﬁ given belf)‘giﬁ = frfaiad fokedt 7 @ @aifae 3ugw o I1:
ehel qaiteres 39gh I A
i 5 S (A) Gifeay Frrze
(A) a-Lb-1V,c-TILd-1I 3
(B) a-1V,b-TILc-1,d-1 (B)  Wifeam TEgrREe
(C) a-ILb-Ic-IV,d-III (C) TSIl 37t
(D) a-Lb-ILc-MLd-IV (D) mEfee st
(E)  Question not attempted / ﬂaﬂﬁﬁ Iq (E) Wﬁﬁg&r
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141 The process of pastoralists losing their animals | 143 In some cases, pastoralists supplement their
and livelihood due to government policies and . .

_ income by selling

modern development is known as:
Choose the most appropriate answer from the Choose the most appropriate answer from the

options given below: options given below:
(A) Distress driven displacement
(B) Deforestation

(C) Desertification (B) Mineral resources

(A) Modern gadgets

(D) Pastoral immigration . .
(E)  Question not attempted (C) Handicraft and textile

TRt it 3R smyfie faem & wror =T (D)  Gem stones
?;rﬁ;ﬁ q{’mﬁ R 1 @ A il (E)  Question not attempted
Freferfia Rt i & wraifires suge s ot F A H, AT AT TR A
(A) Hehe i faremus TR L B
(B) e - .
©)  TeEhEm frfafad fosredt # @ watfae sagw® SR TH:
(D) =IETRT ATHETET (A) Y U (ToieH)
(E) 3rgaid 9 ® whed

142 Which of the following statements is not true ©) FEAIIeY 3 T
about Raikas of Rajasthan? D) T

Choose the most appropriate answer from the
options given below: (E) © i
(A) Maru Raikas are associated with camel

herding. . . ) )
) ) 144 “Project Tiger” campaign was launched in:
(B) Godwar Raikas mainly rear sheep and

goat. Choose the most appropriate answer from the
(C) Dhandi is the settlement of Maru Raikas.

(D) Raikas are traditionally, associated with

options given below:

pastoralism only as their profession. Tl RIS ST BT ST - q
(E)  Question not attempted g e
TSIEAT % 9N # fAfafed & 9 wF- - :
A T Frffan e i & watfis sage 3w g
e et § & warifires suges s o (A) 1971
(A) & THH S TER0 H TS T B 1973
(B) TISAR T¥eh! JE&ad: WS 3T Tahil uTeid &
(C) i<, AT TeT o6l Sl gl (C) 1981
(D)  THRITA &Y § T AT oh & H IR D) 1983

U3 2
(E) SR I (E)  Question not attempted / 3133?!'&?[ a4
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Which of the following conservation strategies
do not directly include community participation?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©
D)
(E)  Question not attempted

frfefga @ & =i =t o fifa e argerfie
HRIfTAT & S 58 T &

frfeRaa foskedt @ & wafiere Iug ST
(A) GIH IT I

(B) SIS SIS 3T=are

(C) TaweRt st=ae

(D)  FASa STHIRTT T HIHiRT

(E) 3rgaid 9

Joint forest management
Beej bachao andolan
Chipko movement

Demarcation of wildlife sanctuaries

Select the state which shares its border with the
state of Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Gujarat (B) Uttarakhand
(C) Chhattisgarh (D) Himachal Pradesh
(E)  Question not attempted

I =T T T ST TSTEAT T o AT ST HAT
TS T 2

frfaiaa fospedt # & wafiere Iug ST
(A) TRIE (B) 3IWGEe

(C) T (D) Teure yew
(E) gaid o=

Where is Pushkar fair organised ?

(A) Bikaner (B) Jodhpur
(C) Udaipur (D) Ajmer
(E)  Question not attempted

TSRT Tt T TSI el BT 87

(A) e (B) SuqH
(C) IFRH (D) SR H
(E) i@ yy
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Which of the following is a popular folk dance

form of Rajasthan?

(A) Fugdi (B) Ghoomar

(C) Bhangra (D) Yakshagana
(E)  Question not attempted

T3 0 & R -HT TS T Tk T8, Al 27
A) BT B) T

() wimer (D) &

(E) egaiayy

Select the name of a desert which is located in the
state of Rajasthan.
Choose the most appropriate answer from the

options given below:

(A) Thar desert

(B) Kalahari desert

(C)  Great Basin desert

(D) Cold desert

(E)  Question not attempted

39 YR o 919 1 =3 IS ST OoTer e e
R =l

frferiian foeedt # & Taiferds g 3t I
(A) IR

(B) SHIATERT (™

(C) T Ao ifram

(D) hics FaH

(E) 3@ g

In Rajasthan nuclear power plant is located at:
Choose the most appropriate answer from the

options given below:

(A) Kalpakkam (B) Tarapur
(C) Narora (D) Rawatbhata
(E)  Question not attempted
TSFET H AR St S5 el fRord 22
et et & & Tt Iugw ST
(A) FAUEEAH  (B) ANEH
(C) T (D) TEAIRTH
(E) I g4
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